oA —9x + 5y — 1 oA 9] Mg= a 7Rol L, A5 F2 b, x 9
74]—’?% ojtt. ol W, a + b + ¢ 2] G 5ot

—-9x+5y—1 2] 2] 4= 3 Aot 42 -1, x o Alg+=
-9, A= Gatole

kA @ = 3,b = -1,c = -9 °Jt}.
a+b+c=3+(-1)+(-9) =-7°|ch.




4x — 2 _
x35+§:ax+bgﬂla+bﬂ%ﬁ%¥ﬁﬂﬂ.

>
1
|>Io'ilél': a—|—b=—§

4x-5 2 4x-5 3
5 X

5
:2x—§ =ax+b

ojlBR g=2,b= —g ojt}.

wet atb=2+ (-2) = -1 oIk




ol

, 0.3a

b
3

, 8b, —0.4, 10a,

3
5

—Ta, —

~&B

—7a2} 10a2} 0.3a

4
3

8b 2}

3

ot -04

5




3 Hof|A] 712 Uk & OdAS 5 SAprp—
FA7)e] GAlS ofal, M2 e WAl w224 (3244 | A
S ot ¥l 712 A9l sttt A, B, [ 1-3 | dz+1
C, D o &E-& Ao|u} =215 At 2 c | D
Jotelgt

> =

» cf:

» Eh:

»

> ™e . A=5x

> FHE: B=5x-2

> HEE c=x-1

> Het: D= —-x+3

=(2x-4)+ (3x+4) =5x
=(x-3)+ (4x+1)=5x-2
2x-4)—-(x-3)=x-1
=Bx+4)-(4x+1)=-x+3

P




tef k.

S

(a+1)+2(2a-3)

k2

-

ul

CE—
0

|

% g
5
© 0
|

s A
T
- <
+ or




6. Tx—{bx+5y-(3x—2y+1)} = ItH] L uf, x 2}y O] A50] S
“otofet.

> E.

> " -2

B

Tx—{5x+5y—-(3x-2y+1)}
=7x—(5x+5y-3x+2y-1)
=Tx—(2x+Ty—-1)
=Tx—2x-Ty+1
=bx—-Ty+1

urebA x ofy O] A9 25 - 7= -2 o]t




A= (k+1)x>+x-3, B=x?+3x | st A-B & 1_‘?’_}] sty
x off TRt dxpA o] H Ut o] off, A= k O] gk F-stoiEt

A - B=kx?-2x-3 o[t}
Qxp4Jo] s|ofof st o] akafe] A7t 0 olofok G,
wakA & = 0 o]tk




8.

11x — 20y oA oJ® A& F H widHy -3x - 4y 7} Atk

ol 40 x 9}y o] A% G Fatolet,
=

> g 1

B

oju,

ot 4 [ e ope
11x-20y-2[  |=-3x-4y°|ch

o[ ]|=14x-16y, D =7x-8y o[t}
x O AF T,y AL -8
whehA] A5=o] 2 7+ (-8) = -1 o[tk




.

ul

12a—-6-9a-3=3a-9

"~ 34 (-9)=-6




10. oW Aof 2x— 8y & Hlof shd] &Eal A ML —5x + 3y 7}
sl9lth. o] W £7] A4E AL Fajelat,

> =

> el —x-13y

~&B

o 4 : A
A — (2x—8y) = —5x+ 3y

A= -5x+3y+ (2x—8y) = —3x— 5y
2 (=3x=5y) + (2x — 8y) = —x — 13y

(AIEA)—(2x — 8y)=—5x + 3y
~(OTE A4 (2x — 8y) =2 (2x — 8y) — 5x + 3y
=—x—13y




